LEVEL S

8" Corner Applicator 4-702

Schematic # |Part # |Description

8291 |Screw (8-32 x 3/8")
9317|Cone

7520|Cone Gasket

87291 |Screw (8-32 X 3/8")
7521 |App. Filler Gasket
(022 |App. Flat Rubber
8261|Screw (10-32 x 1/2%)
9319|8" App. Pressure Plate
73/78| Thumb Screw
(409 |Bearing

9315|Pivot Bearing

9314 |Handle Connector
9313|8" App. Gasket
7053|App. Filler Valve
7414|Valve Sleeve

7051 |Filler Spring
7050|(3-48) Lock Nut
0316|Valve Holder
8288|(8-32) Lock Nut
{792|Latch

9615|Plastic Washer

6311|8" Applicator Body

000 [ | AN |~ L (N =

=
o

|_'|.
|_1

=
MO

i
L2

H
I

[
o

-3
@)

e
"“-J

=
o0

s
o

MO
et

MO
[T

D
Mo

4-702 8” Corner Applicator




SELE]

103e017ddy J8uI0) 8 70L-¥




	4-702 8 Corner Applicator-list.pdf
	4-702 8 Corner Applicator

